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1. Introduction

In the last meeting, one WF on link-level simulation assumptions for BS IC was agreed in the last meeting [1], which also includes the first batch of simulation cases. This contribution presents our initial simulation results for these cases.

2. Simulation assumptions
The agreed simulation assumptions in [1] are followed. In addition, some clarifications on the simulation assumptions are made below, according to our companion paper in [2]:

DMRS for intra-cell and inter-cell UEs:
· The cell id for the intra-cell UEs is 0, and the cell id for inter-cell interfering UE 1 and inter-cell interfering UE 2 is 1 and 2 respectively.
· Group hopping and sequence hopping are disabled, and 
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· 
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Performance metric:
· Intra-cell inter-user interference is not included in the “I” part of SINR, and SINR represents signal to inter-cell interference and noise ratio.
· In addition to the throughput curves for each intra-cell UE, the average throughput of the intra-cell UEs as well as the SINR at 85% maximum throughput are also given.
3. Simulation results

3.1. Simulation results for 2Rx

Simulation cases:
	Case No.
	No. of co-scheduled UEs
	Propagation condition
	MCS level 
(intra-cell UEs)
	Inter-cell interference scenario

	1-1
	2 UEs with equal SNR
	(EPA5 low, ETU5 low)
	MCS10 (QPSK 0.61)
	High interference level in HetNet: DIP1= -0.43 dB

	1-2
	
	(EVA70 low, ETU70 low)
	MCS15 (16QAM 0.5)
	Low interference level in HomNet: DIP1 = -5.45 dB


Simulation results:
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Figure 1a. Case 1-1, Per UE throughput curves
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Figure 1b. Case 1-1, Average throughput curves
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Figure 2a. Case 1-2, Per UE throughput curves
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Figure 2b. Case 1-2, Average throughput curves

Table 1. SINR working point (dB) at 85% maximum throughput
	
	Baseline receiver
	IC reference receiver
	Gain of IC

	Case 1-1
	4.51
	1.34
	3.17

	Case 1-2
	12.92
	11.07
	1.85


Observation 1: With 2Rx and 2 co-scheduled UEs configured, 
· For case 1-1 with EPA5 serving channel, MCS 10 and high interference level, the gain of IC reference receiver over baseline receiver is 3.17 dB. 

· For case 1-2 with EVA70 serving channel, MCS 15 and low interference level, the gain of IC reference receiver over baseline receiver is 1.85 dB. 

3.2. Simulation results for 4Rx

Simulation cases:
	Case No.
	No. of co-scheduled UEs
	Propagation condition
	MCS level 
(intra-cell UEs)
	Inter-cell interference scenario

	2-1
	4 UEs with equal SNR
	(EPA5 low, ETU5 low)
	MCS10 (QPSK 0.61)
	High interference level in HetNet: DIP1= -0.43 dB

	2-2
	
	
	
	High interference level in HetNet: (DIP1, DIP2) = (-0.43, -13.78) dB

	2-3
	
	(EVA70 low, ETU70 low)
	MCS15 (16QAM 0.5)
	Low interference level in HomNet:DIP1 = -5.45 dB
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Figure 3a. Case 2-1, Per UE throughput curves
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Figure 3b. Case 2-1, Average throughput curves
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Figure 4a. Case 2-2, Per UE throughput curves
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Figure 4b. Case 2-2, Average throughput curves
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Figure 5a. Case 2-3, Per UE throughput curves
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Figure 5b. Case 2-3, Average throughput curves

Table 2. SINR working point (dB) at 85% maximum throughput
	
	Baseline receiver
	IC reference receiver
	Gain of IC

	Case 2-1
	-0.17
	-4.38
	4.21

	Case 2-2
	-0.24
	-4.57
	4.33

	Case 2-3
	11.61
	8.75
	2.86


Observation 2: With 4Rx and 4 co-scheduled UEs configured, 

· For case 2-1 with EPA5 serving channel, MCS 10, high interference level and 1 inter-cell interferer, the gain of IC reference receiver over baseline receiver is 4.21 dB. 
· For case 2-2 with EPA5 serving channel, MCS 10, high interference level and 2 inter-cell interferers, the gain of IC reference receiver over baseline receiver is 4.33 dB. 
· For case 2-3 with EVA70 serving channel, MCS 15 and low interference level, the gain of IC reference receiver over baseline receiver is 2.86 dB. 

4. Conclusion
This contribution provided initial simulation results for BS IC, with the following observations:
Observation 1: With 2Rx and 2 co-scheduled UEs configured, 

· For case 1-1 with EPA5 serving channel, MCS 10 and high interference level, the gain of IC reference receiver over baseline receiver is 3.17 dB. 

· For case 1-2 with EVA70 serving channel, MCS 15 and low interference level, the gain of IC reference receiver over baseline receiver is 1.85 dB. 

Observation 2: With 4Rx and 4 co-scheduled UEs configured, 

· For case 2-1 with EPA5 serving channel, MCS 10, high interference level and 1 inter-cell interferer, the gain of IC reference receiver over baseline receiver is 4.21 dB. 
· For case 2-2 with EPA5 serving channel, MCS 10, high interference level and 2 inter-cell interferers, the gain of IC reference receiver over baseline receiver is 4.33 dB. 
· For case 2-3 with EVA70 serving channel, MCS 15 and low interference level, the gain of IC reference receiver over baseline receiver is 2.86 dB. 
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